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Figure S1: Development of sediment methane concentrations in net methanogenesis experiments at

different depths in March 2013 (A), June 2013 (B), September 2013 (C), November 2013 (D), March

2014 (E), June 2014 (F), and September 2014 (G). Shown are measurements in triplicates (a, b, c) with

trendline and slope for each replicate. Y-axis shows the methane concentration in uM, and x-axis

shows the time in days.
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Figure S2: Example for the sediment methane increase in triplicates after addition of methanol

(=methanol treatment) in March 2014. Methane showed a similar development at the other three

time points November 2013, June 2014 and September 2014 (data not shown).
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Figure S3: Dissolved oxygen (0,) concentrations in the water column from February 2013 to

September 2014. Data extracted from the Boknis Eck database: www.bokniseck.de/database.
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